%1’

ARMY INSTITUTE OF FASHION AND DESIGN nur 8 200

Bangalore -560077

(A unit of Army Welfare Education Society)
All India WRITTEN ADMISSION TEST (WAT)

Entrance Exam — B.Sc. (FAD) / B.Sc. (IDD)

MODEL QUESTION PAPER

Total Marks — 100
Part A — (online, multi choice questions) — 70 marks
Part B — ( Creative) — 30 marks

Instructions :
1. All questions of Part A to be answered. Click on the right answer
2. Part B to be answered on the Drawing Sheets provided.
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. There is no negative marking

Time — 3 Hours
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. An anorak is a long hooded jacket of skin or cloth but from what language does the word anorak come?

. Eskimo
. Swahili
. Latin

. French

. What is a farthingale?

. a hoop skirt

. knee length stockings
. a garter

. a hair band

. Identify the fashion icon

. Jayne Mansfield

. Audrey Hepburn
. Elizabeth Taylor
. Ali MacGraw

. Pick out the odd one

. Nylon

. Polyester
. Rayon

. Linen

. Careful is to cautious as boastful is to

. Humble
Arrogant

. shy

. Suspicious



6. Choose the correct meaning of the idiom/phrase —To play second fiddle

a. To reduce importance of one's senior

b. To do back seat driving

c. To support the role and view of another person
d. To be part of an orchestra

7. What is the value of 1.8 minus 7.2?

a.9
b.-5.4
c.9
d.-5.6

8. Which country / region is known as the Land of Cakes?

a. Cuba
b. Scotland
c. Wales
d. Austria

o

. On selling 17 balls at Rs. 720, there is a loss equal to the cost price of 5 balls. The cost price of a ball is:

. Rs 50
. Rs 60
. Rs 65
. Rs 63
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10. This is the hardest substance measure on the Mohs Scale

a. emeralds
b. Gold

¢, Rubies

d. Diamonds

11. The central banking functions in India are performed by the

a. Central Bank of India
b. Reserve Bank of India
c. State Bank of India

d. HSBC Bank

12. Devaluation of a currency means

a. reduction in the value of a currency vis-a-vis major internationally traded currencies

b. permitting the currency to seek its worth in the international market

¢, fixing the value of the currency in conjunction with the movement in the value of a basket of pre-
determined currencies

d. fixing the value of currency in multilateral consultation with the IMF, the World Bank and major trading
partners

13. Depreciation means

a. closure of a plant due to lock out
b. closure of a plant due to labour trouble



c. loss of equipment over time due to wear and tear
d. destruction of a plant in a fire accident

14. Which of the following is used as the logo of the World Wide Fund for Nature (WWF)?

a. Deer

b. Elephant
c. Panda

d. Alligator

15. Notes on which denomination has the portrait of Mahatma Gandhi printed on them?

a. Rs 2000
b. Rs 500
c.Rs 10
d. Rs 100

16. Which of the following countries is not a member of SAARC?

a. Nepal

b. Bangla Desh
c. Afghanistan
d. Myanmar

17. Amnesty International has its headquarters in

a. London

b. New York
¢, Washington
d. Oslo

18. Which among the following is a galaxy?

a. Sirius
b. Ursa Minor
c. Orion
d. Andromeda

19. Which among the following works as central processing agent in RTGS?

a. Reserve Bank of India

b. Institute for Development & Research in Banking Technology

c. Indian Financial Network

d. Indian Banks Association

20. The Indian method of electing the President has been taken from the following country
a. Great Britain

b. USA

c. Ireland

d. Australia

21. Find the odd one out

a. Corset



b.Bustier
c. Stays
d. Crinoline

22. Which of the following is a type of Belt?

a. Foulard
b. Garter
c. Obi

d. Jabot

23. What are the elite group of models for the Brand Victoria’s secret known as?

a. Chicks
b. Angels
c. Devils
d. Darlings

24. Kate Moss designed a fashion range for this brand

a. Zara

b. Mango

c. Topshop
d. Forever 21

25. The fashion capital of Italy is

a. Rome

b. Milan

c. Florence
d. Naples

26. A red sole is the signature motif of this designer

a. Manolo Blahnick

b. Salvatore Ferragamo
c. Christian Louboutin
d. Jimmy Choo

27. The number of 3 digit numbers divisible by 6 is

a. 151
b. 150
c. 149
d. 125

28. What is 1004 divided by 2?

a. 52

b. 502

c. 520

d. none of the above



29. Complete the following series. 61,74, 87, 100,

a. 109
b. 113
c. 114
d. 111

30. Nakshatra, Gili and Tanishq are all brands of

a. Watches
b. Sarees

c. Jewellery
d. Shoes

31. Who was the first Indian in independent India to have won a medal in an individual Olympic event ?

a. P T Usha

b. Dhyanchand
c. Mary Kom
d. KD Jadhav

32. Bikini Day is observed in which of the following countries?

a. Japan
b. France
c. USA
d. Brazil

33. Malediction (Select the word that is most similar in meaning)

a. Mispronunciation
b. Grammatical Error
c. Curse

d. Tactless

34. Rohan is 4 years older than his sister Reema. The total of their present ages is 24. What is the equation
for finding Reema’s age?

ax+4x=24
bx+(x+4) =24
C.dx+x=24
dx+4+24

35. Don’t let the teacher catch you (Choose the correct word)
a. Cheating

b. Cheated

c. Cheats

d. in cheating

36. Which state government has declared Jackfruit as official fruit of the state?

a. Karnataka
b. Kerala

c. Maharashtra
d. Tamil Nadu



37. The “Birkin” is a

a. Bag
b. Belt
c. Glove
d. Hat

38. In a town, 65% of the people watched the news on television, 40% read a newspaper and 25% read a
newspaper in addition to watching the news on television. What percentage of people neither watched
television nor read a newspaper?

a. 5%

b. 15%
c. 20%
d. 25%

39. Which of the following items is not used in LAN?

a. Cable

b. Printer

c. Modem
d. Computer

40. What is Coco Chanel’s real first name?

a. Gabrielle
b. Marie

c. Louise
d. Mary

41. Kwashiorkor and Marasmus are

a. Countries
b. Languages
c. Diseases
d. Typhoons

42. Which of the following is a disease caused by bacteria?

a. Cholera
b. Rabies
c. AIDS
d. Malaria

43. If 15789 = XTZAL, 2346 = NPSU, what is 23549?
a. NPTUL
b. NPTSL
c. PNTSL
d. NBTSL

44. In the Mahabharatha, Devavrata was the other name of
a. Bheeshma

b. Arjuna

c. Duryodhana

d. Karna



45. How many hearts does an octopus have?
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46. The Dogri, Farshi and Patiala are all

a. Languages

b. Cities

c. Lower Garments
d. Tribes

47. If Room is called bed, bed is called Window, window is called flower, flower is called cooler — on what
would a man sleep?

a. Bed

b. Flower
c. Window
d. Cooler

48. Deforestation during the recent decades has led to

a. Soil erosion

b. Land slides

c. Loss of Bio diversity
d. All of the above

49. Firewalls are used to protect a communication network system against

a. Fire

b. Unauthorised Attacks
c. Virus Attacks

d. None of the above.

50. Artist Amrita Shergil was of

. Indian Origins

. Indo-Germanic origins
. Indo-Hungarian origins
. English origins
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51. Inkscape is a

. llustration Software
. Drawing with Ink

. Landscape with Ink
. None of the above
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52. Harry Potter plays this

gameA, Lacrosse
b. Snitch

c. Quidditch

d. Hockey



53. Two years ago a man was six times as old as his son. In eighteen years he will be twice as old as his son. Their
present ages are

a. 32 years, 5 years
b. 32 years, 7 years
C. 34 years, 6 years
d. 36 years, 11 years

54. The Gharchola refers to a type of

a. Sari

b. Sweet

c. Embroidery
d. Cuisine

55. Latitudes and Longitudes help us to -----

a. Find time

b. Locate a place on Earth
c. Travel to far off distance
d. Draw beautiful maps

56. The two principal pillars of Democracy are

a. Liberty and Justice
b Equality and Justice
c. Freedom of Religion
d. Freedom of Speech

57. “Philately”refers to

a. Stamp Collecting

b. Coin Collecting

c. Book Collecting

d. Butterfly Collecting

58. was the winged horse in Greek Mythology

a. Centaur
b. Minotar
c.Pegasus
d. Nike

59. The three primary colours are

a. Red, Blue & Yellow
b Red, Green & Black
c. Red, Green & Yellow
d. Red, Blue & White

60. The split complementary colour scheme uses

a. 3 Colours
b. 4 Colours
c. 2 Colours
d. 5 colours



61. If Man=Biography, then Nation =?

a. People

b. History

c. Geography
d. Religion

62. Who is the author of Dracula?

a. Count Dracula
b. Vlad the Impaler
c. Bram Stoker

d. Lord Byron

63. Which of the following is not a primary greenhouse gas found in earth’s atmosphere?

a. Carbon dioxide

b. Nitrogen oxides (NOx)
c. Methane

d. Water Vapour

64. Who is the present Prime Minister of Great Britain?

a. Boris Johnson
b. Donald Trump
c. Theresa May
d. Narendra Modi

65. What is the main ingredient in Japanese Sake?

a. Wheat
b. Barley
c. Rice
d. Oats

66. The total number of students in the university is 4800. 60% of these are female. What is the number of boys in the
university

a. 1860
b. 1920
c. 2020
d. 1880

67. When a country devalues its currency, the effects would be

a. Imports become cheap and exports become costly
b. Imports become costly and exports become cheap
c. Imports and exports both become costly
d. Imports and exports both become cheap

68. He was the first to discover that the earth revolves around the sun
a. Newton

b. Galileo

c. Copernicus

d. Watt



69. Who is the author of “Game of Thrones™/

a.J K Rowling

b. Chetan Bhagat

c. George RR Martin
d. Stephanie Meyer

70. The Cannes Film Festival is held annually in this coun try.

a. Germany
b. Sweden
c. France

d. ltaly

71. GDP stands for
a. Gross Domestic Product
b. Government’s Domestic Produce

c. Grant Development Patent
d. Government’s Development Product

PART B

1. Sketch any one of the following in the sheet given. Render using colour pencils. 15 marks
a. Ariel view of a kite flying festival
b. Worms eye view of a Pepsi bottle

2. Make a free hand design using nature as your inspiration. Shade the drawing using any 2 colours of your
choice 10 marks

3. Design a logo for a fashion brand using the initials of your name 05 marks
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